8.4 Comparing Proportions PRACTICE

Determine if the tables are proportional. If they are proportional, write an equation.
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The following are proportional. Compare the relationships and answer the questions.

3. Rod and Tod are saving money over the summer.
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Time Money > Todd saves $20 every 5 days.
Equation:
(days) Saved q k TR
($) q ‘
2 9 Lﬁ__ = % Equation:
4 18 -
= TX
6 27 or o=t
8 36 Lj - Lf' b X
a. Use a sentence to explain what &£ means in this context for each boy.
Rod saves 9 dollars every 2 months Tod saves 4 dollars every month

b. How much moncy will each boy have in 30 days? Use the equations.
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4. “Leaf it to Me” and “Leaf Baggers Inc ** are competing leaf raking companies.
Leaf it to Me 9 Leaf Baggers Inc (LBI)
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Where c is the cost and b is # of bags of leaves raked.

Cost in dollars
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a. Which company is cheaper? Justify your solution.

Leaf it to Me is cheaper. They charge $2 per bag, while LBI
charges $2.50 per bag.

b. Some people say these companies are RAKING in the cash. What would each company charge for raking 14
bags of leaves? Use your equations.
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5. “Crusty Lemonade” and “Main Squeeze* are competing lemonade recipes.

Crusty Lemonade Main Squeeze
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a. How much water would you need to make lemonade for each recipe if you use 8 cups of concentrate? Use
your equations.
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Crusty Lemonade: Main Squeeze:
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Use the graph to write equations for each fruit stand. Answer the questions
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b
o, A X s Produce: ] 30% X *7
Fran's Fruu,... 102 = x - Perry’s Produce: ] ax
o= 3 196 = ¥x
3 - y T 9
x - ,1-3 r.” B x - ,f)‘{ r‘k,/)
Fill in all missing representations. Graph both Spongebob and Patrick on the same graph.
8.
Spongebob Patrick
Verbal: Verbal:
S bob runs 5 met ery 4
e 'l’c“:o,,é;‘_" S Patrick runs 1 meter every 2 seconds, but has a
) 4 meter head start at the beginning of the race.
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a. [fthe race is 100 meters long, who wins the race? How much do they win by?
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